Exhibit B

Kaliel Gold, PLLC Billable Hours

	LC Billable Hour			Amount	
Date	Timekeeper	Hours	Hourly Rate	Billed	Description
					REDACTED
					FOR
					ATTORNEY
					CLIENT
8/7/22	JY	0.5	\$239	\$119.50	PRIVILEGE
, , ,				·	Reviewing
					bank
					statements;
					searching for
					account
8/8/22	SG	1.5	\$777	\$1,166	documents
				-	Researching
					correct
					account
8/7/22	JY	1	\$239	\$239	documents
					REDACTED
					FOR
					ATTORNEY
					CLIENT
8/8/22	JY	0.5	\$239	\$120	PRIVILEGE
					REDACTED
					FOR
					ATTORNEY
					CLIENT
8/11/22	JY	0.5	\$239	\$120	PRIVILEGE
					Drafting
					demand
8/12/22	NG	2	\$239	\$478	letter
					Reviewing
					and editing
					demand
8/12/22	SG	0.5	\$777	\$389	letter to bank
					Emailing re
					drafting
9/10/22	SG	0.3	\$777	\$233	complaint
					Reviewing
					draft
9/13/22	SG	1	\$777	\$777	complaint
					REDACTED
9/13/22	JY	0.5	\$239	\$120	FOR

					ATTORNEY
					CLIENT
					PRIVILEGE
					REDACTED
					FOR
					ATTORNEY
					CLIENT
0/15/22	JY	0.5	\$239	\$120	PRIVILEGE
9/15/22	JŤ	0.5	Ş239	\$120	REDACTED
					FOR
					ATTORNEY
0/10/22	IV/	0.5	6220	¢120	
9/19/22	JY	0.5	\$239	\$120	PRIVILEGE
					Emailing re
0/10/22	SG	0.2	6777	61FF	filing
9/19/22	36	0.2	\$777	\$155	complaint
					Emailing re
					local counsel, admission
0/24/22	66	0.2	6777	¢222	
9/21/22	SG	0.3	\$777	\$233	requirements
					Emailing re
					local counsel;
0/22/22		4	6777	6777	researching
9/22/22	SG	1	\$777	\$777	local rules
					Reviewing
					pro hac
					documents;
0 / 22 / 22		4 5	4777		emailing re
9/23/22	SG	1.5	\$777	\$1,166	same
					Emailing re
					service of
					process;
					reviewing
0 /00 /00		0.5	4	4000	packet re
9/23/22	SG	0.5	\$777	\$389	same
					Coordinating
					service of
					process,
			4.4.4.4	4	emailing re
9/26/22	NG	1	\$239	\$239	same
					Emails re
			4	4	notice of
9/29/22	SG	0.2	\$777	\$155	appearance

					Reviewing
					admission
					requirements,
					emailing re
9/29/22	SG	0.5	\$777	\$389	same
					Preparing
					notice of
9/29/22	NG	0.5	\$239	\$120	appearance
					Filing affidavit
					of service;
					calendaring
9/30/22	NG	0.4	\$239	\$96	deadlines
					Emailing re
					service of
10/1/22	SG	0.1	\$777	\$78	process
					Emailing re
					deadlines and
10/3/22	SG	0.1	\$777	\$78	calendaring
					Emails re
					calendar,
10/7/22	SG	0.2	\$777	\$155	deadlines
					Emailing re
10/10/22	SG	0.2	\$777	\$155	call with OC
					Scheduling
10/10/22	JK	0.1	\$878	\$88	call with OC
					Scheduling
10/11/22	JK	0.1	\$878	\$88	call with OC
					Preparing for
					call with OC;
10/12/22	JK	0.6	\$878	\$527	call with OC
					Reviewing
					letter to
					court;
					emailing re
10/17/22	JK	0.3	\$878	\$263	same
10/17/22	SG	0.5	\$777	\$389	Call with JK
10/17/22	JK	0.5	\$878	\$439	Call with SG
					Emailing co-
			4-		counsel re
10/25/22	SG	0.2	\$777	\$155	call with OC
					Email re
		-			scheduling
11/3/22	SG	0.1	\$777	\$78	call with OC

				Email re
				scheduling
IV.	0.1	6070	600	call with OC
JV	0.1	Ş070		Email re
	0.0	6777	6222	scheduling
SG	0.3	\$///	\$233	call with OC
				Researching
				potential
				applicability
				and
				enforceability
				of arbitration
SG	4.5	Ş777	\$3,497	provision
				Emails re
				scheduling
			-	call with OC
SG	0.5	\$777	\$389	Call with OC
				Reviewing
				letter to
				court;
				emailing re
SG	0.2	\$777	\$155	same
				Emailing re
SG	0.3	\$777	\$233	settlement
				Emails re
				calendar,
SG	0.2	\$777	\$155	deadlines
NG	0.5	\$239	\$120	Calendaring
				Call with OC
SG	0.5	\$777	\$389	re settlement
				Call with JK re
SG	0.5	\$777	\$389	settlement
				Call with SG
JK	0.5	\$878	\$439	re settlement
				Reviewing
				letter to
				court;
				emailing re
SG	0.2	\$777	\$155	same
				Calendaring;
				emailing re
NG	0.5	\$239	\$120	same
	SG SG SG SG JK	SG 0.3 SG 4.5 SG 0.3 SG 0.3 SG 0.3 SG 0.3 SG 0.3 SG 0.3 SG 0.2 SG 0.5 SG 0.2 SG 0.2	SG 0.3 \$777 SG 4.5 \$777 SG 0.3 \$777 SG 0.5 \$777 SG 0.2 \$777 SG 0.2 \$777 SG 0.5 \$239 SG 0.5 \$777 JK 0.5 \$878 SG 0.2 \$777 JK 0.5 \$878 SG 0.2 \$777 JK 0.5 \$878	SG 0.3 \$777 \$233 SG 4.5 \$777 \$233 SG 4.5 \$777 \$3,497 SG 0.3 \$777 \$233 SG 0.3 \$777 \$233 SG 0.5 \$777 \$233 SG 0.5 \$777 \$389 SG 0.2 \$777 \$155 SG 0.2 \$777 \$155 NG 0.5 \$239 \$120 SG 0.5 \$777 \$389 SG 0.5 \$777 \$389 SG 0.5 \$777 \$155 NG 0.5 \$239 \$120 SG 0.5 \$777 \$389 JK 0.5 \$878 \$439 SG 0.2 \$777 \$155 SG 0.2 \$777 \$155

					Empiling co
					Emailing co- counsel re
12/12/22	SG	0.5	6777	\$389	update re
12/12/22	36	0.5	\$777	\$389	settlement
					REDACTED
					FOR
					ATTORNEY
			4	4000	CLIENT
1/3/23	SG	0.5	\$777	\$389	PRIVILEGE
					Emailing co-
					counsel re
					update re
1/5/23	SG	0.4	\$777	\$311	settlement
					Researching
					and analyzing
					publicly
					available
					damages
1/6/23	SG	2	\$777	\$1,554	information
					Reviewing
					email re
					damages,
					internal
					emails re
1/11/23	SG	1	\$777	\$777	same
					Analzying
					damages,
					emails re
1/11/23	JK	0.5	\$878	\$439	same
					Reviewing
					bank
					statements
					for purposes
					of analyzing
1/12/23	SG	1	\$777	\$777	damages
_,,			T	T - 7 -	Emails re
1/12/23	SG	0.5	\$777	\$389	settlement
_,,		0.0	· · · ·	<i></i>	Analyzing
1/13/23	SG	0.3	\$777	\$233	damages
1/ 13/ 23	50	0.5	۱۱ <i>۱</i> ې	72JJ	Reviewing
					answer to
1/20/22	sc	05	¢777	\$200	
1/20/23	SG	0.5	\$777	\$389	complaint

					Emailing re
1/23/23	SG	0.4	\$777	\$311	settlement
1/23/23	30	0.4	<i>Ş111</i>		Reviewing
					document
1/26/23	SG	1	\$777	\$777	production
1/20/23	30	L	<i>,,,,</i>	Ş777	Emails re
1/26/23	JK	0.5	\$878	\$439	mediation
1/20/25	Л	0.5	3070 	Ş459	
					Analyzing production
					for
					settlement
					purposes; call
2/2/22	SG	2.5	\$777	¢1 042	with expert re
2/2/23	30	2.5	Ş777	\$1,943	same Emails re
2/2/22	SG	0.3	6777	6222	deadline;
2/2/23	36	0.3	\$777	\$233	calendaring
					Emails re
					initial
2/12/22	50	0.2	6777	64FF	disclosures;
2/13/23	SG	0.2	\$777	\$155	CMP
					Reviewing
					statements;
					analyzing
2/12/22	IV	4	6070	62 E 1 2	damages; call
2/13/23	JK	4	\$878	\$3,512	re damages
2/15/22	50	0.5	6777	¢290	Emails re
2/15/23	SG	0.5	\$777	\$389	mediation
					Emails re
2/21/22	50	0.2	6777	Ć1FF	deadline;
2/21/23	SG	0.2	\$777	\$155	calendaring
2/21/23	NG	0.5	\$239	\$120	Calendaring
					Emails re
2/4/22	66	0 5	6- 7-7 -7	6200	coordinating
3/1/23	SG	0.5	\$777	\$389	mediation
2/4/22		0 -	¢070	6422	Emails re
3/1/23	JK	0.5	\$878	\$439	mediation
2/2/22			A	A	Emails re
3/2/23	SG	0.2	\$777	\$155	mediation
					Emails re
0/0/05			4	4000	mediation;
3/3/23	SG	0.5	\$777	\$389	settlement

				Internal call
ŝ	0 5	6777	6200	
30	0.5	\$777	\$389	re settlement
IV	0.5	Ċフフフ	6280	Call re
JK	0.5	\$///	\$389	settlement
66	0.0	6777	6455	Emails re
SG	0.2	\$///	\$155	stipulation
66		4	6455	Emails re
SG	0.2	\$///	\$155	settlement
				Reviewing
		4	4	email from
SG	0.2	Ş777	\$155	Court
				Emails re
				mediation;
SG	0.2	\$777	\$155	settlement
				Emailing and
				calls with
				expert re
				damages
SG	3	\$777	\$2,331	analysis
				Emails with
				OC re
				settlement;
				damages
SG	0.2	\$777	\$155	analysis
				Emails re
				mediation;
SG	0.3	\$777	\$233	settlement
				Call re
				mediation;
SG	0.5	\$777	\$389	settlement
				Researching
				and drafting
				mediation
SG	4	\$777	\$3,108	statement
				Researching
				and drafting
				mediation
SG	4	\$777	\$3,108	statement
		-		Revising and
				editing
				mediation
NG	2	\$239	\$478	statement
	SG SG SG	JK 0.5 SG 0.2 SG 0.3 SG 4 SG 4	JK 0.5 \$777 SG 0.2 \$777 SG 0.3 \$777 SG 0.5 \$777 SG 4 \$777 SG 4 \$777 SG 4 \$777	JK 0.5 \$777 \$389 SG 0.2 \$777 \$155 SG 0.2 \$777 \$2,331 SG 0.2 \$777 \$155 SG 0.3 \$777 \$233 SG 0.5 \$777 \$389 SG 4 \$777 \$3,108 SG 4 \$777 \$3,108

					Finalizing
					mediation
					statement;
					reviewing
					mediator
4/14/23	NG	2.5	\$239	\$598	requirements
					Revising
					mediation
					statement;
					emails re
4/14/23	SG	0.5	\$777	\$389	same
					Emails re
					mediation
4/14/23	SG	0.4	\$777	\$311	statement
					Reviewing
					email from
					OC;
					researching
					issues raised
					therein re
4/19/23	SG	2	\$777	\$1,554	settlement
					Call with
4/19/23	SG	1	\$777	\$777	expert
					Emails re
					details of
4/20/23	SG	0.5	\$777	\$389	mediation
					Call re
4/20/23	SG	0.5	\$777	\$389	mediation
					REDACTED
					FOR
					ATTORNEY
					CLIENT
4/20/23	SG	0.5	\$777	\$389	PRIVILEGE
					Preparing for
					mediation;
					attending
					mediation;
					call with co-
					counsel
					following
4/21/23	SG	6.5	\$777	\$5,051	mediation
					Emails re
4/26/23	SG	0.3	\$777	\$233	settlement

					Emails re
					mandatory
					mediation
4/26/23	SG	0.5	\$777	\$389	report
4/20/23	30	0.5	١١١٢		Emails re
1/20/22	SG	0.2	\$777	\$155	
4/28/23	30	0.2	\$777	\$122	status report
					Reviewing settlement
c /25 /22	SG	2.5	Ċフフフ	¢1 042	agreement;
6/25/23	30	2.5	\$777	\$1,943	revisions
					Email with
c / 2 c / 2 2	66		4	6455	settlement
6/26/23	SG	0.2	\$777	\$155	administrator
					Further
					revisions to
		-	4	4	settlement
6/26/23	SG	1	\$777	\$777	agreement
					Emails re
					settlement
6/26/23	SG	1	\$777	\$777	agreement
					REDACTED
					FOR
					ATTORNEY
					CLIENT
6/26/23	SG	0.5	\$777	\$389	PRIVILEGE
					REDACTED
					FOR
					ATTORNEY
					CLIENT
6/26/23	JY	0.5	\$239	\$120	PRIVILEGE
					Reviewing
					extension
					request,
					emails re
6/27/23	SG	0.3	\$777	\$233	same
					Call with
					settlement
6/28/23	SG	0.5	\$777	\$389	administrator
					Revisions to
					settlement
					agreement
6/28/23	SG	2	\$777	\$1,554	exhibits

					Empiling
					Emailing re
7/6/22	66	4	6777	6777	preliminary
7/6/23	SG	1	\$777	\$777	approval
7/40/22			4777	6222	Email re class
7/10/23	SG	0.3	\$777	\$233	notice
					Emails re
- ((4	4	extension
7/10/23	SG	0.2	\$777	\$155	request
					Call re
					preliminary
					approval,
					settlement
7/11/23	SG	0.5	\$777	\$389	agreement
					Emails re
7/13/23	SG	0.2	\$777	\$155	notice
					Emails re
7/17/23	SG	0.2	\$777	\$155	notice
					Emails re
					finalizing
					settlement
					agreement;
					prelim
7/18/23	SG	0.5	\$777	\$389	approval
					Emails re
					finalizing
					settlement
					agreement;
					prelim
7/19/23	SG	0.5	\$777	\$389	approval
					Emails re
					finalizing
					settlement
					agreement,
					including
					obtaining
					signatures;
					prelim
7/20/23	SG	0.3	\$777	\$233	approval
					Reviewing
					prelim
					approval
7/20/23	SG	3	\$777	\$2,331	motion

<u>г</u>					F
					Emails re
7 /22 /22			6777	6455	settlement
7/23/23	SG	0.2	\$777	\$155	agreement
					REDACTED
					FOR
					ATTORNEY
- (0.1.10.0			4		CLIENT
7/21/23	SG	0.5	\$777	\$389	PRIVILEGE
					REDACTED
					FOR
					ATTORNEY
					CLIENT
7/21/23	JY	0.2	\$239	\$48	PRIVILEGE
					Emails re
					settlement
7/24/23	SG	0.2	\$777	\$155	agreement
					Emails with
					settlement
7/25/23	SG	0.2	\$777	\$155	administrator
					Emails re
					prelim
					approval
7/25/23	SG	0.2	\$777	\$155	filing
					Emails re
					prelim
					approval
7/26/23	SG	0.2	\$777	\$155	filing
					Reviewing
					court's order;
					email and call
7/27/23	SG	1	\$777	\$777	re same
					Emails re
					responding to
8/1/23	SG	0.2	\$777	\$155	court's order
					Emails re
					responding to
8/3/23	SG	0.4	\$777	\$311	court's order
					Reviewing
					response to
8/4/23	SG	0.5	\$777	\$389	court's order
					Email OC re
					response to
8/4/23	SG	0.3	\$777	\$233	court's order

					Preparing for
					hearing on
					prelim
10/2/23	SG	2	\$777	\$1,554	approval
					Hearing on
					prelim
10/3/23	SG	0.5	\$777	\$389	approval
					Emails re
10/6/23	SG	0.5	\$777	\$389	class size
					Call with
10/6/23	SG	0.5	\$777	\$389	expert
					Call with
					expert, emails
10/27/23	SG	1.5	\$777	\$1,166	re same
					Reviewing
					estimate from
					settlement
11/3/23	SG	0.5	\$777	\$389	administrator
					Emails re
11/13/23	SG	0.3	\$777	\$233	notice
					Emails re
11/21/23	SG	0.5	\$777	\$389	notice
					Reviewing
11/22/23	SG	1	\$777	\$777	class notice
TOTAL		103.8	\$73,964.00		